oooon

uoboobooboobooboooboobooboobooboobOoOobooobooboo
oobooooooobooobOoobooobooobOooobobooboobOoobOooooboooboooobooon
gooooboobooobooboooooboooogoon
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ooboooboooooboboobooobooOoobooboobObOooooOooooOoOoobooooOooobooOono
gooboooboooooooboooobooobooobooooboooboooboooooboobboOoboogoD
gboooboooobooon

00 1.1. (X,20) 000000007~200000
(X, 20) = {f+ (I",0I") — (X, m0)}/ ~

0000000000000I" = {(z1,22, - ,2y) € I" | 2; € {0,1} for some i} 0000000000
n>10000m(X,20)0000000000000f,g:(I"0I") — (X,z) 0000

frg:(I",0I") — (X, x0)
oooooooo

f(2$1,.’lf2,"'7l'n) 0§.’L‘1§1/2
9(2331_1’732""73371) 1/2§.T1§1

f*g(xhl‘Qa"' axn) =

goooooooooboobooo

(X, 20) X (X, o) — 7 (X, 20)
00(fl,lg]) — [f*¢) 000000000000 OO0DOO0DO00DO00DOO
00 1.2.n21000007,(X,20) 00000000000

oo 1. 0000000000000 o0oooooooo00f~f,g~¢g 0000 fxg~ f'xg O

000O000f 000000000 H,9,¢ 000000000 FOOOOOH*FO fxg, f'*g'
000000000000

2. 00000000000F,gh:(I"0I") — (X,20) D000 f*(gxh) ~ (f+g)+h00000
00000000000

f(2x1,x2,~~,xn) 0§£L’1§1/2
[x(g*h)(x, 22, - ,xy) gdxy — 2, @9, -+ ,xy) 1/2< 2 £3/4
h(dxy — 3,29, - ,Zy) 3/4<x 51
ogoooon
f(4ac1,x2,'~,xn) ngl§1/4
(f*g)*h)(x1, 20, ,20) = g(dwy — 1,29, , ) 1/4< 2 £1/2

h(2$1—1,$2,"',$n) 1/2§$1§1



oooooboooooooooooooooDbooooDHE:I"xI—X0O0

fldz /(A +t), 22, ,zp) 0z S(1+1t)/4
H(xy, 29, -+ ,0p,1) = g4y — 1 —t, 29, ,x,) (I+t)/d< a2 S (241)/4
h(4(x1 —1)/(2 = 1), 22, ,an) 2+t)/d=sz =1

00000000 (f+g)+hD fx(¢g+xh)000000000000

3. 0000000000000 zoOO0O000 ep:I" — X, vi—goOOOOOOO

o O§I1§1/2
ezo*f(xlax%"'vl’n):
f(2$1—1,$2,"',$n) 1/2§!E1§1
gooooa
T 0z S(1-1¢)/2
H(xl,z%"'axnvt): ° N 17( )/
P21+t —1)/(1+1), 20, ) (1—1)/2<a1 <1

00000000000 0O000000Be,, xf~fO00O0O0O0O0O0O0O0O0OOOOOOO

4. D000000[flem(X,2z0) 0000g: I" — X OO (21,22, ,xn) — f(l—z1, 22, ,Tp)
D00000[gD [f|0000000000

f(2$1,$2,"',$n> 0§$1§1/2

f*g(x17x27”' a'rn) =
f(2_2xlvx27“'7zn) 1/2§I1§1

good
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f((t—1+2$1)/(1+t),1'27~-- 7$n)

0
H(zy, @2, ,2n,1) = S 29 (1—t)/25x S (1+1)/2
FRUE+1—21)/(L+1), 20, ) (1+6)/252 <1
[I[I[II:II:IDDDf*g:exODDDDDDDDDDDDDDDDD

O
oo 1.3. Wn(X,xo)DDniQDDDDDDDDDDDDD
oo (oI = (D™, s"Yhoooo

hy s (D", 8"y — (D™, 81
0 el =(1,0,---,0)0 & = (~1,0,---,0) 000000000 nO0000000000007000
gododooooooboooooogooo
(1", 01™) = (D", 5" 24 (pr gn 1) = (17 1) L% (X, )

D00000fxg~g*f0000 O

n=10000000000000000000000000D'000000000000
00 1.4. f:(X,z) — (Y,5)0000000000000000

fe i (X, 20) — ma (Y, y0)
O0[]—~ [foa) 000000000000 f000000000000000000000

oo 1.5. r, 000000000 ODOOOOODOODOOOOO



00 1.6. f,g: (X,2z0) — (Y,y) 00000000000 f, =g, m(X,20) — m(Y,90) D000
00 [o] € m(X,20) 0000 foa~goaOlOOO[foa]=[goa]00000 fila]=g.]e]0000 O
0 1.7. (X,2z0) ~ (Y,y0) D000 mu(X,z0) 2 m(Y,90) 0000

00 1.8. X ={z} 0000m(X,2) =+«+0000

oo (I*,8I") — (X,z) 000000000000000 O

00 1.9. n,(X,20) 0000000 XOOOOOOOODOOOOODOOOOoOoooooooooooo
oboooooboooobooobodoobooobooobooobooooooooooboooooboooon

(X, x0) 2{f: (8™, %) — (X, 20)}/ =~
oo00ooo0ooo0ooooooo0ooooooOooooooooooooboo0oooOoooonoo

p: S — S"/SnTl = gy gn

ooo0oooboooboooan
V:XvVX —X
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N

0000([f],[g]) — [Ve(fVg)opl 00DD0O0000000000000000 (co)H-space 000
000000000

goooooboooobooooooobooboooooooooobbooboooboobooobooboboo
boboobooboooobobooooboboooobobooooobobooooobobooooan
gobooobooobooooboooboooobooboboooboboboooooboooooboooooboooon
0000000 1-000000000000000o0-0000000000m(X,z)00000000
oooooooo

00 1.10. no(X,20) 0000000 SOOOOOOOOOOOOOOO

00 m(X,20) — SO0O00000000000[0] € m(X,20) 00000 : S° — X 0000
a(l)=2,00000000[a] — [a(-1)]00a(-1) e XO0OO0O0OO0000000000000000
0000000000007 0000000000000000000000000000 O



0000000000 m(X,z0) 0000000000000 O0®(X,20) 000000000000
O00000n=000007(X)0000000000000000m(X)=+«000000 X0OO
0000000000000 00000000000000ooUDOm,(X,z)00O0DD0O0UDOOOO
ooooooooooo »,(X)OOOOOO0O0OOO0DOO0O0OO0OO0DO0OO0O0O0DO0oOOOoOoDOoooooo
oood

00 1.11. X0O0OO0OO0OO0O#,(X,z)0OODO0OO0O0ODO0O0OO0OO

00 0000 g € XO0O0OOm(X,20) 2 m(X,y) 000000000000w: [-1,1] — X O
a(-=1)==zg,a(l) =y 00000000000000p: S" —[-1,1]000000000000000
¢:S$"— S"vST0000000000000000000000([f]€ m(X,20)0000

g:S" Lo grysn P Xy XV X
D0000000[g €m(X,5)0000[f]—[g000000000000 0
0000000000000000000000000000000000

00 1.12. (X,20),(Y,4)000000000000000000 px: XxY — X, py : XxY — Y
gooooooooo
p (X XY, (20, 90)) — T (X, 20) X T (Y, 10)

[f] = ((pX)*[f}ﬂ(pY)*[f]) uoooooo

00 oooooooo0o((fllg]) € m(X,zo)xm,(Y,3) 000000 00A: (S",e0) — (X XY, (%0, %0))
OO0h(z) = (f(z),9(x))00000000000p(R) = ([f],[¢) 00000000000 Op[f] =10
O000pxof~en, pyof~e, 0000000000000000000D000ODOOOOOOOO

Hy :S"xI — X, Hy : S" x [ — Y

D0OO00H =Hy x Hy O [f] = e(zy4) 00000



